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1.

2.

3.

What is the probable relationship between the two speakers?
A. Interviewer and interviewee. B. Doctor and nurse. C. Boss and secretary.
What is the relationship between the two speakers?

A. Neighbors. B. Boss and employee. C. Doctor and patient.
What’s the probable relationship between the two speakers?
A. Teacher and student. B. Classmates. C. Mother and son.

. What’s the probable relationship between the man and the woman?

A. Boss and employee. B. Workmates. C. Classmates.

. What’s the probable relationship between the man and the woman?

A. Professor and student. B. Official and citizen. C. Classmates.

. What’s the relationship between the man and the woman?

A. Waitress and customer, B. Nurse and patient. C. Receptionist and customer.

. What is the relationship between the two speakers?

A. Husband and wife. B. Boss and secretary. C. Teacher and student.
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1. Who is the man?

A. A taxi driver. B. A restaurant waiter. C. A traffic policeman.

. What do we know about the woman?

A. She missed Jane’s birthday party.
B. She hasn’t received Jane’s invitation.
C. She will attend Jane’s birthday party.

. What happened to the woman?

A. A thief broke into her garden.
B. Some of her money was stolen.
C. One of her windows was broken.

. What are the two speakers doing?

A. Playing a ball game. B. Cheering for Oxford. C. Watching a football match.

. What did the woman do yesterday evening?

A. She ate out. B. She watched TV. C. She watched a match.

. What can we learn from Mr. Rice?

A. The women will get a holiday easily.
B. the woman won’t get a holiday.
C. The woman will get a holiday with difficulty.

. What sport does the man most probably like best?

A. Volleyball. B. Tennis. C. Skating.

. Who will be absent at the party?

A. Jessica. B. Rose. C. Linda.
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1.

When will the man’s flight leave?

A.5:00 p.m.. B.9:00 p.m.. C.10:00 p.m..
. At what time did the man have to see Jennifer’s teacher?
A. At 6:30. B. At 10:10. C. At 10:20.
. What time does the man think they will leave?
A.7:47. B.7.25. C.7:27.
. When will the man take a holiday?
A. This weekend. B. Next week. C. This Saturday.
. What time is it now?
A, 7:40. B. 8:40. C.9:30.
. When does the TV program begin?
A. At 6:30. B. At 7:00. C. At 7:10.
. When does the play start?
A. At 5:30. B. At 6.30. C. At 5:05.
. When should Ada get here?
A. At 12:10. B. At 11.50. C. At 10:12.
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1.

When is the pop show?

A. At 7:30. B. At 8.20. C. At 8:30.
. When will Mr. Brown have to be at the airport?

A, By 8:30. B. By 9:30. C. By 10:30.
. How much will the man spend?

A. $34. B. $44. C. $68.
. How many countries has the woman been to so far?

A, Two. B. Three. C. Four.

. How much does the tie cost?

A. $5. B. $30. C. $35.

. What is the man’s phone number?

A. 65975531. B. 64975731. C. 64977531,

. What time will the two speakers arrive for the meeting?

A. At 3:10. B. At 3.40. C. At 10:00.

. What is the time now?

A.9:00. B.9:15. C.9:45.
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1. Where is the woman’s husband now?

A.In Japan. B. In England. C. In France.
2. Where was Peter after he finished his school?
A. In England. B. In Australia. C. In America.
3. Where did Linda grow up?
A. New York. B. London. C. Paris.
4, Where is the man speaker going?
A. To the pizza house. B. To-the library. C. To the supermarket.
5. Where is Jack now?
A. He is in hospital.  B. He is at school. C. He is at home.
6. Where does the man want to go?
A. Moscow. B. Hong Kong. C. Melbourne.
7. Where are they talking?
A. At a factory. B. At a shop. C. At a restaurant,
8. Where does this conversation most probably take place?
A. At a drug store. B. At a clinic. C.In a department store,
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1. How did the man feel about the movie?

A. It was not bad. B. It was not good at all. C. It was just so-so.
2. How does the woman like her job now?

A. It’s boring. B.It’s a fun. C. It’s interesting.
3. What does the woman think of the man’s shoes?

A. She likes them. B. She dislikes them. C. She is not interested in them,
4. How does John feel?

A. Better, B. Fine. C. Sick.

5. What does the woman mean by saying that?
A. It’s not so good as it was.
B. It’s better than it used to be.
C. It’s even worse than people say.
6. What does the woman think about David?
A. He enjoys watching people dance.
B. He might not really like dancing.
C. He dances very well.
7. What was the woman’s reaction to the building of the chemical plant?

A. She agrees to it. B. She doesn’t agree to it.  C. She has no opinion.
8. How did the man like the dress?

A. It was good. B. It looked like a match. C. It was the wrong color.
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1. Why will the woman stay at home in the evening?

A. To wait for a call.
B. To watch a ball game on TV.
C. To have dinner with a friend.
2. Why can’t the man get a table?
A. The woman is busy at lunch time.
B. There is no free table at the moment.
C. There is a traffic jam at the moment.
3. What is the reason for the woman to say sorry?
A. Because she couldn’t buy a new shirt.
B. Because she dirtied the man’s new shirt,
C. Because she was not able to wash the shirt.
4. Why is the man so eager to do the letters?
A. He has already delayed posting them.
B. He was asked to post them the next morning.
C. He will have no time to do them the next morning.

5. Why won’t the woman order dessert? .
A. She will not be allowed to come into the restaurant in jeans.
B. She doesn’t want to gain weight.

C. She is afraid of dropping the dessert on her clothes.
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1. Why does the man say he doesn’t need any pills?
A. He needs a rest without being bothered.
B. He is always told lies by doctors.
C. He doesn’t believe in medicine.
2. What does the woman suggest he do?
A. Call a friend. B. Work on his car. C. Take a taxi,
3. What can we learn from the woman’s remark?
A. The man is too tired to go to the movies.
B. The woman wants to go to the movies.
C. The woman does not want to go to the movies.
4, What does Ellen suggest?
A. The shopping must be done first.
B. The concert should be good.
C. She will take the things to be bought home.
5. What does the woman mean?
A. She does not want to go out.
B. She wants to-go to a comfortable place.
C. She doesn’t want the man to watch TV.

— 7 —
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1. How long does the man have holiday?
A. A month a year. B. A week a month, C. A day a week.
2. What do the man and his wife usually do during their long holidays?
A. Go to Turkey. B. Visit their relatives. C. Travel to foreign countries.
WA 2 BRXHiE, MBS 3~4 /ML
3. What is the relationship between the two speakers?
A. Doctor and patient. B. Teacher and student.  C. Husband and wife.
4. Why does NOT Jimmy come down for breakfast?
A. He does not want to go to school.
B. He is likely to have caught a cold.
C. He is too sleepy to get up.
WrsE 3 BXfih, M 5~6 /N,
5. What is the probable relationship between the two speakers?
A. Husband and wife, B. Mother and son. C. Boss and employee.
6. What is the woman doing?
A. Trying to persuade Kevin to eat carrots.
B. Asking Kevin to turn off the light.
C. Telling Kevin turn to see in the dark.
Wr SR 4 B IE, BIESS 7~8 /MEL
7. What is the most probable relationship between the two speakers?
A. Doctor and patient. B. Student and teacher. C. Friends.
8. What will the two speakers most probably do this Saturday afternoon?
A. See a movie. B. Listen to a concert. C. Go shopping.
WrEE 5 BxfiE . &S 9~10 1,
9. Where does the woman want to go?
A. An office. B. A fruit shop. C. A police station.
10. What does the woman have to do now?
A. Wait for Mark at the crossroads.
B. Walk ahead and turn right.
C. Walk a little way back.
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WrsE 1 BRXtil . BIAS 1~3 .

1. Why does the woman come to see the man?

A. To learn English from him. B. To join a club. C. To asks for advice.
2. What does the man think of the woman’s English?
A. It is improving. B. It is just so-so. C. It is good enough.

3. What does the man suggest the woman do?
A. Spend more time learning English.
B. Try to be close to Americans.
C. Ask some people for help.
WrsE 2 Bt s, RIS 4~6 [,

4, What course will the man take this term?

A. English and physics. B. Math and physics. C. English and math,
5. How does the woman feel about science course?

A. She doesn’t like it. B. She only likes physics. C. She doesn’t have to take it.
6. Where is the man going to work?

A. At a restaurant, B. At a gas station. C. At a taxi company.

WP s 3 BOAT s, BI& 5 7~9 M,
7. What’s the relationship between the two speakers?
A. They’re shop assistant and customer.
B. They’re close friends.
C. They're strangers to each other.
8. Why did the man talk to the woman?
A. He needed an apartment.
B. He wanted to furnish the apartment.
C. He wanted to buy a house.
9. What is the apartment like?
A. It’s small without any furniture in it.
B. It’s big without any furniture in it.
C. It’s big and furnished.
Wr S 4 B, FI& S 10~12 3,
10. What did they do first?
A. They had a swim.
B. They went to Mrs. Black’s home.
C. They cooked some food for picnic.
11. What was the weather like when they had the picnic?

A. Terrible. B. Rainy. C. Lovely.
12. Where did they have the picnic?
A. Just outside their house. B. In the mountains, C. On an island.

Wres 5 BRXHIE, B4 13~15 8,

13. Where is the new sports center?

A. On Hill Road. B. On Mill Street. C. On Station Road.
14. What sport did the man do last week?

A. Swimming. B. Basketball. C. Table tennis.
15. When will they go to the sports center?

A. On Friday. B. On Thursday. C. On Wednesday.

— 9 —
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Wrss 1 Bexd v, A SE 1~4 .

1. What was the purpose of Mrs. Whinfield’s visits to Kew Gardens?
A. To learn more about plants.
B. To write an article on gardens.
C. To meet the writers she read.
2. Where did Mrs. Winfield live before she moved to her present home?
A. Dorset. B. Somerset. C. West London.
3. How does Mrs. Winfield get most of her plants?
A. She grows them from seeds.
B. She gets them from her friends.
C. She buys them from a market.
4. What is the probable relationship between the two speakers?
A. Tourist and gardener.
B. College professor and biology student.

C. Newspaper reporter and garden owner.

Wi s 2 B IS, BIA S 5~8 [,
5. How does the woman feel at the beginning of the conversation?
A. Angry. B. Surprised. C. Sad.
6. What size of the bag does the woman want?
A. A 24-inch bag. B. A 29-inch bag. C. A 32-inch bag.
7. When will the woman leave for Mexico?
A: On Thursday. . B. On Friday. C. On Saturday.

8. Where does the man work possibly?

A. At a mail order company.

B. At an international travel service.

C. At the airport information desk.

WrEE 3 BeXd g, EI& SR 9~12 /3.,

9. What is the woman going to buy?

A. Some beautiful fish.

B. A small bottle.

C. A few rocks.
10. Where does the conversation most probably take place?

A. In the market. B. In an office. C. At home.

11. What does the man advise the woman to do?



12.

13.

14,

15.

16.

17

18.

19.

20.

A. Keep the fish in a bottle.
B. Get a tank to keep the fish.
C. Make some holes in the rocks.
Why should a few rocks be put into the tank?
A. To let the fish swim around.
B. To make the tank prettier.
C. To keep the water clean.
Wr s 4 B iE, BIA S 13~16 [,
Where does this conversation take place?
A. In an old house. B. At a university.
Why does the woman prefer an old but big house?
A. Such a house is usually cheap.
B. There’re many people in her family.
C. She prefers to live in a house of this kind.
What does the man suggest the woman do?
A. Buy a modern house.
B. Clean the rooms every day.
C. Buy an old house with small rooms.
What do we know about the woman?
A. She prefers to live in small rooms.
B. She’ll buy a house near the university.

C. She has spent a long time looking for a house.

Wk 5 BeXfiE . M5 17~20 /.

. What day can it be today?

A. Monday. B. Wednesday.
What is the relationship between the two speakers?
A. Father and daughter.

B. Husband and wife.

C. Manager and clerk.

What will the man most probably do next?

A. Go on with the newspaper.

B. Clean the bathroom.

C. Sweep the floor.

What can we learn from this conversation?

A. The woman is a full-time housewife.

B. The woman should clean the bathroom.

C. The man has just come back from work.

C. At a bus stop.

C. Friday.



